-________________—_______________________—_______/

Write the given numbers in expanded form.

1] 33,294 = 3 ten thousands + 3 thousands + 2 hundreds + 9 tens + 4 ones

Compare the given pairs of numbers based on their place values. Give appropriate
sign >, < or =to make the problem true.

6) 7934 6392 7} 82007 82,0008
8) 2394 2290 9} 7729 3218
10 10794 11000 11} 9239 9239

Compare the amounts and give appropriate sign >, < or = to make the problem
true.

12) 23450 20000 + 3000 + 500 + 50 + 5

130 12342 10000 + 2000 + 300 + 40 + 2

14) 91398 90000 + 1000 + 200 + 80 + 2




-________________—_______________________—_______/

Answers.

33,294 = 3 ten thousands + 3 thousands + 2 hundreds + 9 tens + 4 ones

7934 | > | 6392 71 82007 | < | 82,0008
2394 | > | 2290 9] 7729 | > | 3218
10794 | < | 11000 1) 9239 | = | 9239
23450 < 20000 + 3000+ 500+ 50+5

12342 | = | 10000 + 2000 + 300 +40 + 2

91398 | > | 90000 + 1000 + 200 + 80 + 2




